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MTH 261
LINEAR ALGEBRA
SPRING 2017

Linear Independence in R"
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Find partners, and follow the instructions. You will not turn this in. but you must be workin

diligently to get attendance credit.

1. Determine if the set of veclors is linearly independent. You may be able to do this quikly by

citing a theorem or a fact we established, or you may need more investigation.
-
s heeorly

LTI TG o

Inck?mé*/\"‘ sSnce
N Second velhar S o 2
c\er.r\7 ot & multple o 0 o

w\- Me 'CVS"'

oA Bl

—

Dc'rc/\év\'k- S\ e ol o
s _2-= o O
Vo= 2V L} o

plicitly.
R ¢y =
2 - = S C, =~
-~ = 4 =D 2
2 Vl ) 2. C\: ‘2



3. Suppese that {7, &s, 53} is a linearly independent set. Use this to determine if {7, & +
Un, Uy + 1 + 'D';;})is also a linearly independent set. =
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4. How many pivot columiis must 4 177 matrix hiave if its colunns are linearly independent?

Why? .
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” 5. Make a set of tliree vectors in B with all nonzero entries that you know are linearly depen-
WV dent. One way to do this is to make up the first two vectors and then linearly combine them
B (;4 in some way (o get a third. :j.: 'y
exr . . . N = .
OE L If these vectors were columns of a matrix A, would the equation AF = 0 be consistent?

l’\f)?(/\af({" Would it have a unique solution? 2 -3
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